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Instructions for the candidate:
1 ol qur @y s &l 3 & I 3

Candidates are required to give their answers in their own words as far as

practicable.
2z v @it w R §v IF e Afde avd &/
Figures in the right hand margin indicate full marks.
3 T o st &
All questions are compulsory.
« Tav 23 vy vOuRf qureTe aR-HiAr BT T &/
While answering, the candidate should adhere to the word limit as far as
practicable.
5 39 0¥ 03 B 937 @ R 15 Be a1 sfke s Rar ar @1
15 Minutes of extra time has been allotted for the candidates to read the questions.
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Choose the correct ophion-

3.

pram R x:+'.".x—3=l)a‘:i1(~ﬂﬂ‘nrﬂn il

"I g (1)
® -2 (@ 2
I
() 5 (YI) _-%
The sum of roots of (he quadratic equation x? 4 2x -3 =0 will be.
@2 by 2
| :
)z I
() > @ 1
uﬁ@p(ﬁ):xz.{.?x.*.]()a’:mmBg}a‘la‘ﬂﬂﬂqﬁm- (1)
)10 @ .10
! 7
@ % @

i i = x* 0, the alue
If a, P are the zeros of the quadratic polynomial p (x) = X*+ 7x + L0, then the valye

of a, P will be-

(@) 10 ® .10

(c) -IE (d) 0

TR 3 IR T IR 79 A @Y R NG T W BT A FEAAN— (1)
@/ﬂﬁﬂ (@) wfeast

(M) s (@) %o T

Putting the value of variables in ascending or descending order, lh'f value of middle
variable will be called-
(a) Mean (b) Median

(c) Mode (d) None of these
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i, S w womt- (1)

(w) ofthm (@) smf¥m
(m) qotw (m) W

\/3 is o number-

{(a) Rational number (b) [lrrational number

(c) Integer (d) Natural number

s. R (b, -5) B 30 g0 R A e . (1)
() V4l [@ 3
m -3 @ -4
Distance from the origin of the point (4, -5) will be-
(a) Va1 (b) 3
) -3 d) -4l
. ey R A 3@ W g ¢ vl el # Fwrd enfi- (1)
(@) s (&) @
m I (@) amn

The length of Tangents on a circle from any external point will be-
(a) Unequal (b) Equal

(c) Double (d) Half
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F1 A EN
7t ww @ 24 cm swr A PO 6 ¢m JRL]

(¥) 288% (@) 188%

(1) 100% @ 90%

- -olume of cone will he.
The height of cone is 24 cm, radius of basc 1$ 6 cm. Then v he

(a) 288x (b) 188%

(¢c) 100% (d) 90x

(®) 1 (@) 2

b | -

(m o (@)

The probability of certain event will be-

[

(a) 1 (b)

P | -

(c) 0 (d)

9. 1 +cot’® & 5 gm-
@) sec'd _(E) cosec 9
(7) tan’@ (@) cot’d
The value of | + cot’8 will be-
(a) sec’d (b) cosec’

Y

(c) tan°0 (d) cot’®
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o) ! (a)
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(‘) .‘_L‘ I,:\ﬂ “ L
h ]
X
The value of cos 3 will be-
http://www .bsebstudy.com
|
|
a - b -
{ 2 v
i
(«©) \—; (d) \G
K w e T L & t!l
 JUY O Number.

4+ % S 1 ]

4x=+% IS cieeenenianeneseess. polynomial.

sfygn = I B &y

The angle of semi circle is...........c.cuneee..

FIITANMKRIM @IS wwm k)

The perpendicular on the chord from the centre of any circle is

nnnnnnn

—
—
L

(1)

()

()
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18 g (x, ) M (ag v ) R mel X o ma g ® fréate
The co - ordinates of middle point of line joining points
187 R (@ b) IR (ab) @ o g e e

The distance between (a, b) and (-a. -b) will be...vceenvenene:

AR 2sinA= V3 DA WA e

If 2sin A = V3 then the value of A will be....oovveens
18 TR cos A = g ManAFAA . BT
4 .
Ifcos A = 3 then the value of tan A will be ...ccivieauenennn

19 QAT - Q w1 ErEd = H.CF. x LCM.

True or False - The product of two numbers is equal to H.C.F. x L.C.M,

20." HRETH IRRRA T T P oo FEY B
The class which has maximum frequencies is called................

21 FEm ague 2 - 8x +6 @ RIS F1 W @ AR T4 B

Find the sum and product of zeroes of quadratic polynomial 2x* - 8x + 6
2 R w3 gt @ awalts o W e @ R w9 R
Find the conditions of roots of quadratic equation to be real and equal.
2. U@ g o 2t oRAR 30 1 ¢ g e AR

The parameter of an equilateral triangle is 30 cm. Find its area,

{1

(). ¥1) and (x, vo) w

—
—
L
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()

A

In figure. find the value of OP_ f Tangeat PA = 12cmand OA = S¢m

2 REAAG 2 BE7)MCT 4 A EA T A ABC ¥ evs g W) @)

Find the arca of A ABC whose vertices are A (5, 20 B4 Trand 7 4

=
% PERCE LR AR LN TIGL IS GRS e LB o L @)
=

é Find the arca of circle whose circumfepence is B cm

£

%— 9. @ wdl fomA A s w wmne e af! § & m T @ woEr e A GO
2

= amen &) uems @ gt dr o g el )
<

g Two cubes each of volume 64 cm’ are joint end 1 end. Find the wrface area of the
3

resulting cuboid

}' RI.H fopa o1 dscn o @t (g ™ O -5 (-7, ¢) 7 (10 -2) T @)

Find the centrond of a tnangle whose vertices are (3, -5), (-7, 4) and (10, -2).

/nm_.n,\“m.\mmu.:-- A+B=o0r &)
Iftan A =cot A then prove that - A +Bw 90*

}/oo' ® fyatafadin wrnn wma w1 @)
Find the trigonometric ratos of 60*
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AP.2.6,12.18 ... wEmae e 8 2)

n
Which termof un A.P. 3, 8, 13, 18 is 787
s RT3 sufi tiem 8 0
v
Prove that 3 is an irmational number.
y/:mmm T We AR A 96 3R 404 T H.C.F, 31 L.C.M, Tm 3 ()
Find the H.C.F. and L.C.M. of 96 and 404 by the prime factorisation mcthod.
/:!4. 13-3:=(x+5)’mgazﬂ| ®)
Solve: 13 - x¥ = (x + 5)?
3. F W o @ Jurf omr A7 b w8 AR T 3 N F A s @
Yt B AR A Y | . (3)
The height of a right angle triangle is 7 cm less than its base. If hypotenuse is 13 cm
then find the value of remaing two sides.
3. WHE A ABC ¥ 1T ¥l o For§ ¢ A g w5 B w1 M o %3-:1
grm | (3)
Each side of an equilateral triangle ABC is a unils..Prove that the altitude of the
triangle will be {aa.
%mmmﬁmuﬁﬂa“mmm.maﬂzcw.-na‘mm (3)

If points A (2, 3), B (4, K) and C (6, -3) are collinear, then find the valué of K.
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38 Wﬁﬂl‘laaraaﬂzsmﬁﬁﬂ&Elmﬁéﬂﬂwﬂwm”i"

I wftrwm wm & ¥ ¥ () A B (i) T TE @

o &
(3)

A bag contains 3 red balls and S black balls. One ball is drawn at random. Find the

probability (i) ball is red (ii) ball is not red.

';o/ufa tan(A + B) = .ﬁ M un(A-B)= 71_5

0< A + B <90° A>B.

A MR B F A SR (@)
Iftan (A +B) = Y3 anduan(A-B)= Ll
J3
0<cA+B<9%° A>B
then find the value of A and B.
e - ‘I +sin A
A =seccA+tan A 3
A i l-sin A ¢ an ¢
Prove that l+s.|n A =sccA+anA
l1-sin A
yﬁﬁﬁlﬁammm%mmﬁl (a)
T IRTd | 10-25 | 25-40 | 40-55 | 5570 | 7085 |85—100
TR 2 3 7 6 8 6
Find the mean of following frequency distribution:
C.I 10—25 | 25—40 | 4055 | §5—70 70—85 | 85-100
frequency 2 | 3 7 6 6 )
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42 Prafafan aTRRm T4} gI6 W R ()

T A | 75-30 | 30-35 | 3540 | 40-45 | 45-50 | 50-55 |
| , .

i | i

| qRART | 258 M 50 42 38 14
{ !

Calculate the mode for following frequency distribution:

1C.1 25—30 | 30-35 | 35-40 | 40-45 | 45-50 | 50—55

frequency ] 25 u 50 42 38 14

|
I
|
|
I
1

y,

o/ @ R 35 3 Bow ad iE P FER W & A o Brewm I e s w®
s 1 ga e A wel Jard 155 0. &) 38 Rad 31 Wl gt dFwa

22
3 S S AR x= (5)
A toy is in the form of a cone mounted on a hemisphere of radius 3.5 cm. The total

22
height of the toy is 15.5 cm. Find the total surface area and volume of the toy. &= £l
http://www.bsebstudy.com

w/ T PR R e - @

X+ y=6Tq4x-2y=4
Solve by graphical method:

2x+y=6and 4x -2y =4
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46.

U AR O o D w e B AR I ae 30° @ o rm B are @ e

i w1 = wr 60° &) af Wsme o g sod & o v ) Sord Prard? (9)

The angle of elevation of the top of building from the foot of a tower is 30° and the
angle of clevation of the top of the tower from the foot of the building is 60°. If the
tower is 50 metre high, find the height of the building.
e
& a9 R I AR 7)) o o Ruft 3§ 40 A 3RT @@ 8 anft & o
T T IR 301 60° W weww 30° B e &1 AR W Fund ww B
The shadow of a tower standing on a Jevel ground is found to be 40m. longer when
the sun’s altitude is 30° than when it is 60°. Find the height of thetower.
R w3 % 2 aved Pofelt @ dawell @ aqm I W s @t @ s 3
B &) (5)
Prove that the ratio of the arcas of two'similar triangular is equal to be square of the
raio of their comesponding sides.
g
ot R B A @ o @ ot om D Rl @ ot B O B ww B @ o
N B TG DT AT e §) |
In a triangle, if squarc of one side is cqual to the sum of the square of the other two

sides, than the angle opposite the first side is right angle.
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o oY & (s)

Draw a circle of radius 3 cm. Draw a pair of tangents to the circle, which are inclined

to each other at an angle of 60°

T

s A0, 6 AN o 7 A ot A@ T P @ v AR ol TE s GRS
5

@A A e @ ' P @ # - T e

Po@ o e e R yod RY g8 Pajer i worar swnd ;T

Construct a triangle whose sides are 5 cm., 6 cm and 7 cm. construct a similar triangle

5 : . .
such that each of its side is ;, of the corresponding sides of the tnangle.
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